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HE & X E & T S B B M (Ta=250)
B 3 # [ I B & ; IRRL Vosk X| 1%+ [X|Pp/Peuf lass r—‘ lpss ﬂ Vas{off) oan
W X 2 2 (max) | Vs (mln)f(max) Vps | (min)|(max) {Vps | Ip. |(min)}(typ)|Vps | Ip
LD [k () (%) ) (¢ B | @ | W W@ W i v W) | @ | ® (Sg v | @
25J106 HE LF A, A-SW TJ P|D 50|GDS -10m{G| 150m In 30|-1.2m| -14m} -10| 0.3 6| -10]-0.1x im 4m} -10| IDSS
28J107 ) HE LF A, A-SW TJ P’D 25(GDS -10m|G} 200m 1n 25{-2.6m| -20m| -10| 0.2 2| -10-0. 1z | 12m| 30m| -10{ IDSS
28J108 ) RE LF LN A ‘FJ B|D 25|GDS -10miG| 200m in 25)-2.6m; -20m} -10} 0.15 2] -10)-0.1p &m) 2Im| -10) IDSS
281109 HE LF LN A J PiD 30{GDS -10m|G} 200m in 30(-2.6m; -20m| -10 0.2 20 -100-0. 1 8mi  22m| -10] IDSS
28J110 ): 53 LF A A-SW J PiD 25{GDS -10m|G} 400m 1n 25| -5m| -30m| -10| 0.3 2f -10]-0.1x| 25m| B0m| -10| IDSS
28J111 rZ LFLN A J P|D 25|GDS -10m{G| 400m 1n 25 -5m| -30m| -10| 0.3 2| -10]-0.1g| 30m| 40m| -10 [DSS
28J112 Hir HS PSW,RF PA MOS P|E -100|DSS| =20(S -101D 100 +1p| 20 ~lm{ ~80 -2 -5 -10 -lmj 1.6 21 -10 -5
28J113 [Shvd HS PSW, RF PA MOS P|E -100|DSS| +£20(S -10|D 100 £1z| £20 -1m| -80 -2 -5 =10 -im| 1.5 2| -10 -5
28J114 Hir HS PSW,RF PA MOS PIE -200|DSS| +20¢S -8|D 100 £1pf +20 -im|-160 -2 -§| -10 -1m 1] 1.8 -10 -4
28J11% i3 LF PA MSO P|E -160|DSS| +20|S ~-81D 100 +1n| *20 17—0.8 -2.8f -10] 100m 1 21 -10 -2
28J116 Hir HS PSW.RF PA MOS P|E -400|DSS| £20(S -8|D 125 £1p| £20 ~1m|-320 -2 -5 -10 ~inm 11 1.6 ~20 -4
28J117 g3 HS PSW,RF PA MOS P|E -400DSS{ £20;S -2(D 40 £1p| *20 -1m(-320 -2 -5 -10 ~im| 0.4} 0.7 -20 -1
28J118 IEIL HS PSW,RF PA Mas PIE -140|DSS| +20(S -81b 100 +lp| +20 -lm|-120 -2 -5( -10 -n 1 1.8 -10 -4
28J119 JBﬂ HS PSW,RF PA MOS PIE -160|DSS| *20|S -8D 100 £1p) £20 -1m|-140 -2 =50 -10 -1m 1| 1.8 -10 -4
28J120(L) (8) [EUZ HS PSW,RF PA MOS PIE -40|DSS| £20|S -2|b 10 1| £20 ~1m| -35 -1 -4| -10 ~-im| 0.1} 0.25| -10 -1
28J122 Hir HS PSW, RF PA MOS PIE -60(DSS| £20(S -10|D 50| £1p| 20 —-im| =50 -2 -5 -10 -imy L5} 2.2| -10 -5
28J123 B LF PA, HS SW MOS P|E -70{DSS| *20(S -10iD 30| *in| 20 -1m| =70 -1 -3 -3 -1m 1 1.7 -5 ~2
281128 =% LF PA, A-SW J P(D 50{DGO -10m|G| 150m 1n 30( -1m| -12m| -10/ 0.3 61 -10] 10| 1. 5m 4m| -10] IDSS
281126 BE HS SW MOS P|E -60{DSX{ =+20|S -101D 40(+100n| £20 -im| -60) -1.5| -8.5| -10 -im| 1.5] 2.5 -10 -5
83121 Hir HS PSW MOS PiE ~-1201DSS)  +15]S 101D 50110 =12 -0.25)-100 -2 -4 -10 -in 3 5 -10 -5
28)128, 1287 NEC SW MOS P|E -100|DSS| =£20(S +2!D 20[=100n; +20 -104 [-100 -1 -3 10 -1m 1| 1.6] -10 -1
28J129 BT LF A J P|D 50|GDS -10m |G| 300m| 100n 30!-0.5m| -14m| 10| 0.2 3| -10| -10u 3m -10| IDSS
25J130(L) (S) | HAL HS S¥W MOS PIE -300|DSS| =*20{S -11D 20/ +10g| =16 -0. 1m{-240 -2 -4 -10 -im| 0.25| 0.4} -20| -0.5
28J181 Y- ]SW MOS P|E -170(DSS; 20(S ~10|D 100 1p) 20 -1.9) -4.1| ~10| -0.65| 1.6 2( -10 -2
281132,1322 NEC ’SW MoS PIE -30(DSS; £20|S +2|D 20[{+100n| 20 104 | -30 -1 -3 -10 ~1m 1] 1.8] -10 -1
28J138, 1337 NEC ISW MOS PIE -60|DSS| 20,8 +2/D 20({+100n| +20 -104 | ~60 -1 -3 -10 -lm 1] 18] ~10 -1
28J134 NEC SW MOS PIE -160|DSS| 20|S +6{D 40| £100n] 20 -16 4 |-100 -1 ~3| -10 -1m 1 4] -10} -3.5
257135 NEC SW MOS P(E -100|DSS| £20(S +5iD 301+100n| 20 -10 4 |-100 -1 -3 -10 ~im 1 4 =10 -~3.5
28J136 NEC SW MOS PIE ~60|DSS} £20|S| =*12{D 40{£100n] +20 -10u | -60 -1 -3 -10 ~-1m 2 5| -10] -6.9%
281131 NEC ¥ MOS PIE -60{DSS| £20(S| +10{D 301+100n| +20 ~10ut -60 -1 -3 -10 -1n 2 5| -10{ -6.5




m S @ 5 % (Ta=250) j
Jv7Y
Cis Crs NF Rps(ON) a5 i i1
(typ) | (typ) |Vas |Vps |typ|max| f Re max) |Vas | Ip 0 fMFE A E R B xvHy
R LGF @0 FE d &1W B
18] 3.5 o] -10 210typ| 0| -5m 1054|DSG 251106
ws] 32 o] <10 10typ| 0] -5m 254366 70B[DGS 251107
|05 2| o] -10] 1] 10] 10| 1x 25K370 708| DGS 255108
95 250 o —w0fts| 11 10] 1k T A VGS=20nVmax 25K389 148|Dual FET 257108 |
185 5] 0] -10 20typ] 0] -15m 25K363 820|06s 257110
185 5| o -10] 1] 2| 1k| 100 25K369 82¢| DGS 2sI11L
1100 9| o -10 | VDS (ON)=-1. 75Vmax 1D=-54. ¥GS=-15Y 25K398 28B|GSD, FRBE2SI113 | 250112
100] 90| o] 10 0.35] -15] 5 25K399 149]6DS 251113
1000 o] o -10 0.8] -15| 4 25K400 148]GDs 250114 N
goo] 11| o] -10 VDS (ON)=—TVmax 1D=-54, VGS=-10V 25K405 119]6DS 257115
1400 5] 0] -10 2.25] 15| 1 25K298 28B|GSD 250116
520 15| ol -10 7 -5 -1 25K310 116B|GDS 281117
1050, 80| o] ~10 0.5 -15] -4 25K413 148]6DS 250118
1050 80| o -10 0.5 -1s] -4 25K414 149]6DS 255119
150 5] 0] -10 15| <15 -1 25KA16 150{GDS 250120 (L) 9)
1200] 170 o -10 0.2) -15] -5 25K428 116B|GDS 250122 T
650]  250| 0] ~10 VDS (ON) =-2. 8Vnax 1D=—7A. VGS=—15V 25K442 138]GDS 251123
] 33 o] -10 220typ| 0| 5w 128|DSG162 251125
880]  280] 0] ~10 0.4 -10] 5 182|GDS. {R#251147 | 250126 N
wse] 115 0] ~10 0.25) -16] -5 1168]GDS 250127
1000, 25| o] ~1o0 1] -10] -1]ton=60ns. toff=150nstyp | iD=—1A, YDD=—50V 276/2:281]2:M7 Yo+ ICA] | 250128, 1282
2l 56 0| -10 NV=80n¥nax Re=100kQ2, Flat 2138|bGs Wi
235] 16 0| -10 8.5 -10] -0.5 150]GDS *f{smo(w(s)%
1100 ol 0 -10 VDS (ON)=5. 5V¥nax 1D=—14, VGS=—10V 25KT22 207|GDS 251131
7% 5] o] <10 0.4] -10] 1| ton=60ns, toff=150nstyp | ID=-14, VDD=-15V 276/2:281|2:M7 YoF 1CA |250132, 1320 |
730 5] o] 10 0.8 ~10]  ~1|ton=50ns, toff=150nstyp | ID=~14, YDD=-30V 276/2:281|Z:M7 UIo¥ [CRJ | 2501331332 |
1600 85 0] ~10 0.6] -10] -3.5|ton=45ns, tof f=95nstyp | ID=—3. 5A, VDD=-50V 164|GDS st
1600 650 0] -10 0.6| 10| -3.5|ton=45ns, tof f=95nstyp | 1D=—3. 54, VDD=-50V 274]6DS 251135
1500 80| o ~10 0.3] 10| ~5.5|ton=10ns, tof f=165nstyp | 1D=-6. 54, VDD=-30V 164|GDS 250136 |
hoo 80 of -10f | 0.3] -10] -6.5|ton=T0ns. toff=165nstyp | ID=-6. 54, VDD=-30V 274/GDS  [wsiw




